=

b)
i

ili’

-~ wit.1 the help of suitabie Hustraton.
u I3 .
b b} Explain gross factor terms of trade and income terms o gﬁ&rth limitations.
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\ Q.P. Code :02006 :

[Fime: 23 Hours] ; E [Marks_;?&_}_

CCONQm res

O R

lease check whether you have got the right guestion paper *)}/V]
A} guestions are compulsory. L

Figures to the right indicate full marks / \,j P:’ ¢

Draw neat diagrams whereyer necessary. l R’S
ASLs
Attempt any two of the following - i
mﬂuence the u%em}pggi’ﬁad

3t Discuss how factor intensity and factor abundancg 3
\Y U

N.B:

o

_'3;)

\‘:hzs-}
e

¢} Describe the gains from trade with the help of offer cu

Artempt any two of the following -
a} What are the causes of diseguitibrium in the balan _ : }
b) Discuss the changes in india's balance of payments since 1991, W|th referen
of trade, current account and capital account.
¢) Explain the important 2spects of TRIPS and GATS under WTO.

(25} E

to palance

Attempt any two of the foillowing -
a} Write a detailed note on deg¥ in foreign exchange market.
B} Distinguish between spol anetorward exchange rates,
c} Define the concepts of Hedging and Arbitrage 2nd explain how ;.hewf are useful in the
foreign exchange market.

Htte“'rpt ar,r two of the following :- ;

zin thz determination of rate cfexshange with the help of suitabie diagram.
Siscuss the assumptions and limitations of purch sing power partity Theory
Deseribe the role of central bank In fore:gn exchange market.

ALy Il_l}

o T R T A L N

State with reasons, whether the foilowing statements are true or false :- [any four} {G8}
i} Trade will not take place in case of absolute cost differences betweern the countries.
i) if the import price is less than the export price, terms of trade is unfavourable to the '

country.

it} Depreciation of a currency make the imports cheaper. !
i) india is a founder member of WTO, Es
v) Commercizi banks participate in the foreign exchange markel.
vi) _ Fixed exchange rate system encourages foreign invesiment. :
vii) Exporis generata suppiy of foreign exchange.

viii} Currently, india foliows the managed flexible exchange rate system.

Choose the correct answer and rewrite the statements :- (any saven) {67)
Both single and double factoral terms of trade were developed by

a) Prof. Taussig b} Gustay Cassel

¢} David Ricardo d) Jacah Viner
Reciprocal demand is expressed in terms of :

a! Costcurves b} Supply curves

¢} Cffer curves d) None of these

When & country produces a variety of exports it will have .

at Adverse terms of trade b} Favourable terms of trade

¢l Mo change in terms of trade d} None of these

EGIES43T03FCICAFA24B40TD3347 1 FaF




ents does not include P
b) import of services : .’:-f.
d) Foreign rm*es.tmem:

v} The cusrent account of balance of payme
a} Balance of visible trade
¢} Unilateral services
) The success of devaluation depends on
a) WNature of imports and exports
c} internationa!Co—operat‘lon
vi} TRIMS include measures o
a) Treat foreign investment on par with d
h} Remove quantitative restrictions
¢} Treat foreign investment on par with domestu: mves’c
d) Noneofthe a2hove :
v}s} \Which of the following will increase the sup
a) Areduction in exports
p} Ariselnimport of goods
¢} Arisein unilateral payments -~
d) Ariseinforeign investment.. %
viii} deals in the forel
F a) Brokers

¢} Travel agents & A
simultaneous buying ofa currency m one i 1‘

as -
aj Specuiation o f' Fal B}H@,gwng

c) Arbﬁrage \ - _d) m”agftheabove
demand for ;are;gn ex;haﬁgean"

e b}ir\w;se i
S d}ﬂonenﬁhese f

: nty -.heory was :ntmducéctb:; Y 2
* b) GuSﬁBﬂ‘C@Sﬁéi §

I7re m}shhhli : Jd Arﬁat‘fva serr
bTeakdown ofthe gcrld standards‘the : lcst significance
f 5

P —

b) Elasticity of demandf

d) Al of the above *
e .vl:-';“.,’

omestleli_n_t'om@ #75

méh’e“

(

a) Dzrect
c} Negatwe

inthe e;tchange market.

.-,,b) .Mmt?é it pegw :
Ay Ru;fhasmg ﬁmﬁef panty theerp
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522 49¢%2

[Time : 2% Hours] [ Marks : 75 §

Please check whether you have got the right question paper.
M.B: 1. Figures to the right indicate fulf marks,
2. Working notes should form part of your answers.
3. Use of simple calculator is aliowed.

A) State whether the following statements are True or False, Rewrite the statement. 8
{Any Eight) :
1. AS14 als v.mh translatron of foreign currency transactrons
e “rimalih- js shown under the head 'Current Asset' in
ehw paidhicg DNREL Uy wu-uperative Housing Society.

3. Balance Sheet of a Cooperative Housing 5ociety shouid be nrepared in Form
B. :

4, Salary to partners is allocated in time ratic’ wh;!e calcalarlrg feleo)
Pre and the Post incorporation period. :

5. Asset—Backing methed is a method for valuation of goodwrii

6. A Company cannot buy back more than 25% of its paid up equity.capital in
any financial vear.

7. Discount on Issue of shares written off, is charged only 'to the Post
incorporation pericd while ca!cufatmg profits for the Pre and the Post
incorperation pericd. &

&. Exchange Rate is the ratio for Exchange of two currencies,

9. Buy Back of Shares can be done out of free reserves of the company.

10. Average Rate is the mean of the exchange rates in farce during a period.

its for the

B)  Match the following {Any Seven) : o 7
tii e = L G : 5 :
1) Discount to debtors, while calculating Profit & Loss Account
Profits prior to incorporation
2} Office Rent, while calculating Profits Capital Reserve Account
pr[ca‘ to. incorpo ation
3} intrinsic Value Method Allocated to Post
_ _ _ _ incorppration period
4y Transfer fees received is disclosed in Allocated In Time Ratio
the Baiance Sheet of Co-operative
Housing Society under the head
5} Fixed Deposits with Banks made by Method of Valuing Shares
Co-gperative Houz' g Sogiety s
_ disclosed under the head
6)  Cashis an example of Methed of valuing Goodwill
7)  Investments is an example of Allocated in Sales Ratio
8)  Profits earned prior to Incorporation is Reserve Fund i
transferred to
9}  Balance in Foreign Exchange Investments
i _ Fluctuation account is transferred to
16}  Super Profit Methed Non ~ Menetary ltem
- Fixed Assets
Share Capital
Manetary ltem

TURN OVER
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0} Q.P. Code : 01508
2
2. Foliowing is the Trial Balance of Giriraj Co-operative Housing Society Lid. as on 315t 15
(March 2017 ¢ _ _ - /fr\,\ Len Ty J : pos
77 Debit 3 Credit e
QN | Cashin Hand ¢ '@ 500 Centrlbution from : ' '2,_00,000 |
\&f‘c’ | - _ Miembers . i,
CashatBank { & 51,000 | interast on BankA/c . | 5,000
#| Security Expenses &~ 1" 61,000 | Repair Fund (01/04/20¢6) 1,10,000
Building ¥ ¢ 8,00,000 Reserve Fund S e 309,000
(01/04/2016) e
o Electricity Charges | 18,000 | Sinking Fund (01/04/2016) ¢ -‘-—-3,00,000
Miscellaneous Expenses 1,909 | 5,000 Equity Shares of 250,000
Y | 50 each fully paid
~1 Salary m 85,300 | income and Expenditure 2,35,000
i . | Account - s
Printing and Stationery 6500
Expenses ' .
Insurance Premmm i 71001
Furn:ture kg 2,00,000
Conveyance Expenses . 13,400
Accounting Charges 15,000
Depreciation - 48,800
Property Tax ™ 7. 91,000
Total 14,00,000 | Totat 14,00,000

Additiona! information :
1) Coliection from Members, given in the Trial balenz2 is towards :
al  Maintenance £1,50,000 C_{malh)  Sinking Fund $25,000 Loser
¢) Repair Fund 24,000 RedeW€ d)  Entrence Fees T1,000 KeS€rvt
2)  Provide for the following Qutstanding Expenses:
a)  Audit Fees 5,000 b} E
¢} Security Expenses 14,000 d) Sa
Prepare Income and Expenditure account for the year er::e-:{ 215 March 2017 and
Balance Sheet as on that date in the format required urder, the Maharashtra

- it R S B TR
{edparati € 2 a8t st

ciricity Charges 2,000

| %
ary T4,200

OR

TURN OVER
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Q.P. Code : 01508

3 .
i . TN !
2. Aparna Wtd. imps==2 22235 from Zen Ltd, of USA worth USS J.GOOUOO on Ist 15
November 2015 whrz~ === s«change rate was T63 per USS The amount was pan: to
Zen Ltd. in five ecuz -3 znis on the following dates :
‘ Jate Exchange Rate: Per t}ss {?)
DLt hEs 62 Cent 2 -
T i T Bh i .
! ThI-Ilis T Bl -
i34 oo
[ T o818 T, C B8y s T Lol
Aparna Ltd. closes the =225 on 3 March'every year On 315 March 2016 the
exchange rate was T63 z2- _33. < i

You are required to pass_c_—zl En
2

tries m*the bcoks of Apat‘na Ltd fﬁrthe years e";ded
31 March 2016 and 31 1.0272= o . :

ﬁl?'-\ e

3. Ascertain the value of Gozz . [ o D-arthana” t.td carwmg on bUS]nES‘S as retasrtraders 15
from the following informz: -~ - - :

SummarizaZ Salance Sheet as on 31‘* March 2016

= - Liahilities \ z s Assets 4" g S I j
5000 Equity Shares o 5.30,000 | Goodwm I 1 110000
1060 each _ W Ve
Profit and Loss Account .23,000 | iand and Building 7,00,000
Sundry Creditors 222,300 | Plant'and Machinery 2,00,000
Other Current Lizbilities 123000 Stock 50,000
- FDebtors 30,000 |
| Cask and Bank Balance 10,000 ’
Fotal 11,00,000 | Total 11,00,000 |
The Profi ts earned before pra. Zinz for Laxatlon were as follows :
v Year ended 317 March <
N 2022 80,000
20:3 _ 85,000
s l 91,000
; 2015 98,000
" ;{ 2016 7T os,000

Income-tax may be taken at 357-.
Normal Rate of Return is 103,
Profits for the vear endad 225 ".z-2~, 2016 include an extraordinary income of 1,000
whereas profit for the yzar srdes 31 March, 2014 includes loss by earthquake of
¥4,000.
in future, Rent of TE,207 2.2, will no longer be payable.
Goodwill is to bs ca'cuzted with reference to capitalization of Maintainable Profits
Method. Use Simole Average.

OR

TURN OVER
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3

Anand LtZ. toox cver the Susi-ess o Kzpoor Bros., a firm w. eaf l"lanuary, 2016 The 15
Company vwes moorporstss on 27 Warch, 2016.5ummarised. Proft & LQSS Account for
the yezr endecs 317 Decamioar, 2015 was as under: AR
Expanses T mcome 7 - PR
To Szlzrles %2056 1 By GrossProfith/d - | 90,00,000
: To Bates and imsursnos 1200030 BE AT G,
7o Printing & S:2¥2nz 222,000 e e = ) |
Ty Audin fees 22030
" Tc Director’s Fess soabagl . S, gz
. To Carriage Outwars 5.23,000 | @ s
' To Advertising Expesszs © £12000) ;
' Tc Electricity Charzas SBOOR] L L e _ K
. To Commission on Sa'zs gz32000f .. o .
~ To Bebenture irterest 1,590,000 . =~ I ,
| To Depreciation T 2,28,000 | 3
':_,Tc Interest on SPurcmzzs 100000 )
. consideration 1 g
*To Net Profit 22850000 . :
'o':ez 80,080,000 © .- . Total | 90,00,000 |

13 Saies fv:r S2R ST mmahy April ‘May, June, Octcoer, November and
Moetwere tete the sales for &ach of the months January, February,

v, huzlstand September. .

iz purchase ccnmderation on 19‘ November, 2015,

zvztie for the entlre year.-

fowing profits ‘FQr pre-incorporation and post incorporation

Iznce Sheetof Shreeram a.td ason 31 March, 2017 is as follows . 15
Particulars - - T

Share Capital : 3G,00,000

3.5G,000 Equity Shares of 710 each fully paid

Reserves and Surplus

SEagtios Bkt : _ -,05.200

Profit and Loss Account g,00,000
Long Term Borrowings

10% Debentures 14,00,000
Current Liabilities
Creditors . 4,00,000
Total 58,00,000
Assets
: Fixed Assets 28,00,000
Investments 10,600,000
[ Current Asseis 20,00,000
Total 58,00,000 |

TURN OVER
STCDY3545619F5AT4FDATA4CT2FERASS
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5

Ascertain the == ~ . number of equity shares the company can buyback at a price

Assuming the ou.IzIn 3 zctually carried out,
a} Recordis 1.7 = entries in the books of Shreeram Ltd,
b} Prepare :Iiz: I Accounts of Share Capitai and Reserves & Surplug as they
would agr=z- - Notes to Accounts forming part of the Balance Sheet of
Shresram L7z 21 o0 31F March, 20 17.

(Do not Prepare Ba.z™ = Iozath

: GR
4. Al ‘G(oiden’ Limita- :.2~s the following information as on 315t March, 2016 ¢ 8
= :
land and Bt = -z B 10,00,000
Plant and Ma=— ~=7y ' 500,000
Current Assa:s - " 7,00,000
Goodwill ] o 2,00,000
investments ' ' ' 2,00,600 .
Share jssue Exz=7533 10,000 |
g Creditors "~ 4,00,000
| Biils Payabie ~2,00,000

Capital of the comps™= =2 ~prises of 10,000 equity shares of 2100 each fuliy paid.
.a -< Tz _ '+ share using Net Asset method.

Calculate the valu

8) A Company's shars ---:z s T10,00,000 divided into 10%, 4,000 Preference 7
shares of 100 eacr. & 1~ remaining are equity shares of T 10 each.
The average profit 2727 X @308%) earnsd during the past three years was
7 2,10,000.
In future, expenses =, ~ITEas€ by T10,000 per annum.

Normal rate of returs 2 2275
Find out the valug ¢ Z2.0y share by Vield Method.
¥

5. A} Explain the conciiicns w” _n a company has to comply with, as per the provisions 8
of the Companies ~==. "=z273ing Buy Back of shares.
g} % slalmbewsssT T -2 Iqeziza prrengy trangoction differ fron transetionn 7
€ home currency.
T
5. Write Short notes cn any +rrza o7 he following : 15
1) Divisible and }.or-T0, 1 22 Profits,
2) SpotRatews. ~vaTIZ3 R
3) Yieldmathos o7n2- 72 s-zres.
4) income & Tl R r-==un% of 3 Co-operative HousIng Society.
ARl il Z.-T-: arior to and post Incorporation.
TURM OVER
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viil.

- ix.

Qi b)

2.2, s}
b)

Q.2. a)
b)

Q3. a)
b}

BIATSCRI6T2AFCAUFTDED TDABRA 12060

L R R EE————————————SS

Q.P. Code ;02252
[Tima: 2-’2 Hours] v [ Marks:75]
Pigaszcreix .v!*ether you have got the right question naper
MN.B.- 1, Alg.zz zre compuisory.
2. Qu 2. 210 5 have intarnal options.
3. Figures o nezright indicate full marks.
Rewrite the complete sentence 2-7 state whather it {s true or false:- {zmu eight) 03
A sale of Rs. 10,000 to Prajzk:z .2z z~"2r2d a5 a sale to Prasiddha. This is an example of Error of Cnmmissmn
Window Dressing is exactly opzzz -z =7 Sazret Reserves.
Audit Plan should be based o im0 2422 of client's business.
Long Term Investments are norms’ . .z uad at cost price 2t the end of the year.
In Test Checking client's staff beco—=: zzreless.
Overcharging or undercharging c* 22722 =ion Is an Error of Principle.
Credit Sales are vouched on the b2: : 2% Zzsh Memo.
Audited statements are helpful ir 237 = —=2-1 of disputes.
An auditor can take the nelp of exzz-2z z_- 2z the course of Judit.
Under efficient internal control syzze— === sugtor has to kee ap the sample size feras,
Match the foliowing items it Colurr A" with most appropriate items in Column 'B’ and a7
rewrite: { any seven )
' _ Column A’ {oluma 'B'
1. Accounting «  Anyinformation obtained by Auditor
2. AuditNote 8z~ & Test Check
3. Audit Sampiinz > PuEiic Der;OSEts»”
4. Audit Evidensz s Management Fraud
3. True &Fair View ©  Bills Receivable-
6. Manipulations? ~2:2.-5 . Ménagement Naad
7. Unsecured Loz=: ¢ Disclose all material facts
8  Sundry Debtars »  Random Number Table
d: TN CERe, e Audit Working Papers
0 SRV THCRAE = = Compiles the accounts { J
Defir~ hatarm "Aud®ing' Explais = I-:7 ¢ -3k features of £ aditing. 5
Describe in bnef the incidental chizer vez 277 -2nial auditing, 07
Or
Enumerate the different scurras 2f o272~ -1 ~“zrmation by the auditor about his client's business. » 08
What is 'Fraud'? How weouis vou < 285 %0 3 F2-ent Frauds? 07
What instructions bz 204 7=- 302 ' 127z < Clent before the commencement of an audit? 08
Whatis'Audit 272373~ —3 * = s wel 2 oo smove the drawbacks of an Audit programme? 07
o2
1

-



Q.3.

Q.4

G.4.

Q5.

Q3.

a)

b}

b)

3)
b}

a}
b)

What do you mean Current Audit File’? State the contents of a Current Audit Fila ' :_‘-"
What are the main functions of Audit Working Pagers? &

What are the inherent limitations of 'Internal Control”?
Explain ir: brief Systematic Sefection Method in Audit Sampling.

CR

What s the meaning of est C'iacking? State tha disadvantages of 'Test Chagking
What should be the main features of internal central as re} Fﬁ's;tq'

How would you vouch 'Rent Paid'?
How would you verify Secured Loan'?

OR

Write short nates on the followings: { am,' three 2

Window Dressing

Audlitor's duties regarding Fraud

Gaing Concern Concept

Advantages of Audit Programme e

Errors in Audit Sampling

£

EFATSCLI67T2ZAFC40FTDED TDMBRA 12060
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1

4)

7)

Cost ﬂ(mnﬁpg
\ D

Q.P. Code :0318
[Time: - 2% Hours] : [ Total Marks: 75
N5 - A7 Juzsuons are Compulsory. )
. = : 1> the right indicate full marks allotted to the questla:mr
VL T\aies should form the part of your answer.
4. Calcoizs Figures upto two decimal points wherever required.
SeLs e HAISL AERTOUnE  Spuon and rewrite the full sentence. (Any Eight} 8§
is a person for whom contract job is underta ken. .
» Contraciee - Contractor
¢ Sub contractor o Job worker
Cost driver for personnel ars o G e
e Recruitment Activity o lndustrial Relations climate
e Training requiramenis o All of the above

A company has a sales of T4,83, 600, F/V ratio is 20% and Fixed costis ?:30 000 the profit will
ke i ’

e ¥ 50,000 SR s T 40,{300 3
« ¥ 70,000 PR s T 80,000
C8st iedger contains _
s Factory ove rhead contral account s Wages control account
» Storesledger control a2cun s All the above

Nhen a contract work s completad to the extent of 20% of the contract price, profxt to be
credited to P & LA/cTs :
s Nil a  Fuyllamount
o 1/3 of prefit ¢« 2/3 of profit
An Interlocking book keeping system is @ -
e Asingle combined system eontaining both cost accounting and financial accounting
records
e A system combining cost accounting and management accoynting
s A system with high secured access
« A system where separate accounts are kept for cost accounting and financial
zccounting
Coss o7 2 contract is determined by preparing
s (Costsheet « Profit & Loss Account

= Baiance Sheet * Separate Ledger Account
Total cost incurred is 69,920, scrap value of Normal loss 1,520 input 1900 units, Normal
loss 19C units, Abnormal loss is 30 units. Cost of Abnorma loss is
« < 2900 e T 1200
¢« T IL00 s T 2000

TURN OVE
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1 \ Q.P. Code :031

2

g}  The Standard hourly rate was T4. The actual rate was £3.50, The lzbour rate variance was
724,000 favourable. The actual labour hours were _

e AR000 s 49000
s 45000 s 52000
10} Abnormal Gain is equal to
» Actual output — Normai output s Norma! outour — Actual output
e Actua! cutput—innat s lnput- ALtus Suigut

b}  State whether the foilowing statemantsare True or False {Any Seven; 7
1) P/V Ratio is improved by decreasing variable cost.
2) In Target Costing, wastefui activities are eliminated.
3) If cash received from contractee is 80% of work certifiec. thaxn the retention money
will be 25%.
} Direct wages are debited to Cost ledger control account.
} Normal loss in process costing is controliable.
} Standard costing is method of costing.
)
)

o U1k

Activities form the basis of ABC System.

Srandard costs sre expressad on a per unit basis.

g) When selling price Is at cost, then contribution = FixeZ <3t
10} Sales vaiue of Joint productis significant.

oo ~J

m

P.dl £ Chemical Company submits the following information in r2sz=o7 -° s sroduct which passes
through three consecutive processes vizA, B&C for the Month 7,27 2207
Particulars _ FhuEess
A N £ C
Basic Raw Materials at T30 per kg. 60,000 kzs. e .
Process Materials {T) 2,00,0CC 5,07,500 | 3,835,000
Direct labour (%) 2,000,652 1,45,000 | 3,00,000
Machine Expenses (T) | 80% of Directlabour 1327557 f other 1,60,000
. Fzoicry overheads )
Other Factory Overheads {T) ] 1,84,000 2,25,000 | 97,000
Norral loss % i 30% | 40% |
Stock and Process Qutput
On 31-01-2017 {kes) 7500 6000 3000
On 01-01-2017 {kgs} 5000 5000 4000 ¢ -
Scrap Value per kg. (T} - 12 14 ‘167
value of Opening Stock per kg. (¥} 29 70 145
Output during the morith {Kgs} 46,5090 - 31.000 19,600
Clasing stock is to be valued at respective cost of each process during the . month. '

You are required to prepare Process accounts and Process Stock accounts.
OR

/ TURNC
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2. Parth Ltd. provides vo se the Tolowing information abouttheirbrcscé'sts'es.fop__ih'e-;-;i}éa-rended’ ' 15 ﬁ

315t March , 2017 b At tel o Sl
Particulars Process X | Process Yo, | ProcessZ i
Raw Materials introduced {in urits)- : 15000 4J,6{30 5y 41000
Cost of Raw Materials perunt:3) .~ 7ol agls e "48"_-__- .. - B5
Output during the year {units; © 14,000 1 12 000 |- 8,200
Output transferred to next process {<2) g T 60% | 50%:_'72 e
Output sold at end of the pracess =25) 00 LN 40% 5% ] 70%:
Output transferred to Finished Sic R il g 4 I L 30%
Normal loss S T P '
(9% of totat input introduced in cach grocess) | .. COB8% S 10%
Scrap value per unit N ] 15;-__:._ EE: S 55
Direct labour/Us a 8/) | 7y . 360000} 3,20 00| . 2,87,000
Direct Expenses " Y e e : "BO%of Direct-’- D%ﬁf Dlrect 50% Direct
: g *'__,"Wages 2.5 wages | wages

Manufacturing Expenses - w0 b 15&50@ gy 1_2720 94,500
Seliing price per umtof;)utput solg (T 4 v 04| 0. 118 163
Prepare){Y&ZProcess az:counts G

3. Radha Constructlons E“zt Ltd. ‘obtaized two’ contracts viz Comract P and Q. Contract P 15

commenced on: 15t Aprzl 2(}16 and Contract Q commﬁnced on 1st June 2016. Following
information extracted from therr books Tor the year erided 31st March 2017.

: l3*ar’cu:1,1arf. - L ‘Contract P Contract Q@

Materials |ssued () 5 " 44,50,000 49,50,000 |

Direct wagas. . ~ - SO 27,40,000 32,35,000

Direct expenses 2y 12,33,000 9,47,500
Architect’sfees - . {9%) | 4% on work certified-1 4% on work certified

Sub Contract charges () 7,33,500 4,54,700
| | pdministrative overheads, (%) 32,47,500 37,48,000 |
}  plapt ssued at commencemeant ) ! 50,00,000 60,00,000 |
| Contractprice - - &) 2,50,00,000 3,00,00,000 |

. Cash received (80% of work certified) (T) | 90,00,000 1,44,00,000
Materials at site S 4,00,000 7,00,000 |
Materiais returned to stores. {T) 5 30,000 1_,00,000 i

In the mmth of Jan. 2017, Material costing 745,000 have been transferred to Contract P from
Contract Q. Provide depreciation @ 20% p.a. on original cost of plant.
prepare Contract Accounts for the year ended 31st March, 2017.
OR

i

TURN OVER
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Q.P. Code :03183

Prepare the Contract Accounts and Contractee’s Accounts fmm the foﬂowmg mformat;on 1:

relating to a contract for ¥60,00,000, the contractes paying 80% 0; the value of work done as

certified by the architect and the balance on completion

Yé a"rs £ 5

Particulars - :
2014-15 2015-16° | 201617
Materials issued (<) 7_,-2@.000_ 8 80, 000 L 5,04, 000 :
Direct wages (%) 6,24,000 | 7,95,200 | 6,20,800 |
Diract Expenses (<) 28,000, - 1,0C,000 36,000
indirect Expenses (%) . +- 12,0007 16,000 - N
Work certified (Cumulative) (T) 1400000 [ - 2520,000{  60,00,000
Architect Fees 4% of work 2% of work 4% of work
certified _certified ! | certified
Work done but yet to be certified (T} NI 80,600 - Nil
Plant at commencement (%) 80,000 # NIl Nil
Plant at the end of the year .~ (Z) 64,000 - 40’,0‘00 L 16,000
Cost ledger of 2 company shows the following | balances as on 1st Apnl 2016 15
,i Particulars i : Debit & | Crediti®)
| Finished stock ledger’ ccntrol account | 6,840
‘ WIP ledger control account : 27,400 k
Stores ledger control account 16,500 ¢
Cost ledger control account : 44 740
i N T _ 44745 ¢ 44,740
Transactions for the year 2016-17 are as below: e
Direct wages 88,400
Works overheads aliocated to production 28,500
Stores issued to production 87,500
Goods finished during the year 2,30,000
Finished goods sold (No'stock left at the year end) 2,75,000
Stores purchased - 97,500
Stores issued ta factory repairs only 1,500
Carriage inwards on stores issued for production ECO
Works expenses ) 24,500
Office & Administrative expenses 6,500
You are required to prepare!
1) Cost ledger coﬁtrqi account
2) Cost of sales account
3) - Works overheads cantrol account
4) Stores ledger control account
5} WIP ledger control account
6} Finished stock ledger control account
OR
TURN OVER
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4. a Margin of safety is T8,00,000 which is 40% of total sales and Profit Volume Ratio is 36%.
From the sbove, Caiculate:
1} Total Sales
Z} Profit on present sales
3) 3ales to eam profit T3,00,000
4} Fixed Cost,
b}  From the following information, Calculate:
1) Material Cost Variance
2) Miaterial Price Variance
3} Material Usage Variance

Standard cest-for 100 units 800 Kgs
Standard rate per Kg. Z 6.40
Actual Production 45,000 units
Actual Material used ~ 3,50,000 Kgs
Actua! Material cost < 22,05,000

5. {a) Explain the steps in implementation of the Target Costing Process, ~
(b} What are the advantages of Standard Costing?
OR

5. Write Short Notes on any three.

1) Stores Ledger Control Account
2} Margin of Safety

3} Activity Based Costing

4) Material Price Variance

5) Abnormal Lass in process

GSADAFSEGSCCOALBI04F3FSARDEIFITF
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Q.1

Q.2

Q.3

G4

MHRAM

L2249 ¥

Q.P. Code 102239

Ao

Frirne: 02:30 Hours] : © [Marks:75]

Please check whether you have got the right question paper.

N.B: 1} All questions are compulsory.
2} Figure to the right indicate full marks.

Answer the following guestions {any two)
a} Define Human Resource Management. Explain the fegtures of HRM.
b) Explain the term lob Analysis. What are the components of Job Anai'.‘,fsis?
c} Expiain theterm recruitment. Discuss the yafious sources of recruitment.
Exlevact
Answer the foilowing guestions (any two)
a} Define the term training. Explain the methods of on the job training.
b} Explain the limitations of Performance Appraisal.
¢} What is Career Planning and Development? Explain itg importance.

Answer the following questions {any two}
a} What do you mean by Leadership? Explain the different styles of Leadership.
b) What is Motivation? Explain William Quchj’s theory Z of Motivation.
¢} Define the term Grievance. Enurmerate the causes of Grievan¢3'in orgnisations.

Answer the following guestions {any two)
a) What is Spiritual Quotient? Explain the factors affecting SQ,
b} Explain the techniques of Counselling.
¢) Describe the chalienges gf Hurman Resource Management in brief.

A) Fill in the blanks choosing appropriate option.
i} is the process of estimating future manpower needs of the organisation.
a)Promotion b} Placement ¢) Recruitment  d) Human Resource Planning

ii} means that the Performance Appraisal is influenced by the past performarnce.

alHorn pffect b) Halo effect ¢} spill-over effect b) Nope of these

iii) Accordingto __ employees are lazy and refuctant to work.
al Theory Z b} Theory Y ¢) Theory X d) ERG theary

iv} Under _ leadership style the subordinates take decisions.
a)Autocratic b} laissez Faire cjParticipative d) Consultative

v is a combination of mental, physical and sccial qualities.

alEmotional quotient t3) Personality c)Spiritual quotient d) None of these
B} State whenever the following statement are true of faise, o
i} Refresher training Is meant for updating knowledge. ) Q

o

ii} On Campus is an internal source of recruitment. |
iii) Career planning and development is not for unskilled waorkers.
iv) Attrition is a method of downsizing

v) Good Human relations reduces conflicts

EC21 D585 D728F283040586C DEDTOCCHC
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Match the following
1j Empioyment test

2} Age, qualification & experience

M

3) Transactional Leadership

4) Business Games
5) Employee Morale

Q.P. Code 02239

c} Job Specifications

d) Management Development
e) Aptitude Test '
f) Mental state
g} tob Descri pthm
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TaeecT Tax

5

QP Ccﬂf: %214

{2% Hours) w {Té‘ta"f '\Aarks ?‘L L
(N.B. : All guestions are compulsery and carries 15 marks each)

1. {a) Rewrite the following statements and state whether 1t is True or Fa‘!se as per Semce Tax 8
law {any eight} :— 2 5 - £, B

Service Tax Law extends to Whole of india. =

2. Ther term ‘Service' includes Declared Services.” 7 . - ¢ ) g
3. Electronic Payment of Service Jax is mandaiory for alt assessees
4. Construction of a Building is not included. der_ Geclared Sew ces
5. Fees payable to a Court of Law is cmvered Urider Exc!uded Sewices
6. The Certificate of Registration under Seche Tax Is iSsued: in chm ST- ;
7. Services by way of coaching in recreatlanat aCtiVFt}E:: reiated tc:~ sparts rs covered
under Exempt Services. ¥ = e 5 s
8. Service Tax Return is required to be ﬁ{ed month]y
9. Service Tax is @ Direct Tax. S - R
10. Negative List specifies the SPrwces which ar@ Llabie for Sﬂmce Tax
{b) Re-write the following statements by seiectrng the apprapriate cpt on as per 7
Maharashtra Value Added Tax Act, 2002 (anv seven) = 5
1. Ssies Returnswithin,__ . months fromtﬁe date of sa[es ¢an he daduced from
the gross turpover oT* sales. e Gt e
e Three e 7 4 i
e Six
8 '\iﬂne
2. Deaier a5 def:red under MVAT in ,c!udes
2 A T‘ra'vspo*t Cos '
e Auc‘roneer
. Bot"r of the above ; -
2 Gross Sa!es Tumcver for the purpose’ of Reglstratmn by an Importer shouid exceed
* Rs a4, 00{}
e Rs. 1,00,000
o Rs. 10,00,000
4. The set-0ff can be adjusted against for that period.
& VAT pavabje
s ST payab
‘e - Boththe above
5, ATax Invoice can be assued' only by
e AManufactu
) e .An Importer
e A Regsstered Dealer
6. Under Composition Scheme, tax rate of 1.50% is applicable to

o Constructicn Contracts
» Second hand car dealers
e Mandapkeeper

{ TURNOVER
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2 QP Code: §5214°

7. Goods listed under Schedule D includes
a Declared Goods
e Precious Metals
s Petroleum Products -
8. Raj of Pune, purchased goods costing Rs. 51,000 {inclusive of (ST Rs. 1,000} from

Bhavesh of Baroda {Gujarat). He sold these goods to Dixit of Mumbai for Rs.
63,000 {Inclusive of VAT Rs. 3,000). The VATpa\.ab‘e is o
# Rs. 1,000
e Rs. 2,000 .
e Rs. 3,000 s g

3. A Retailer who opted for Comoos:’tion Scheme has: aaies of Rs. 25,840,000 for both
taxable goods and tax free goods. HIS purahases from Regs;‘cﬁred Dea'zr is Rs,
15,00,000. The tax payable under comnosition xheme is

» Rs. 10,000 _ e il

e Rs. 153,000 — - o A%

» Rs. 25,000 BT L
10. Set-off under rule 52 is availablé for tax&’s"“ééiﬂ'en purchase of

» Capital Assets : ; '

e {Goods debitedio Pram & Loss Account

o Allof the above

2. Apna Bank has fu mished foﬂow:rsg mfcrrr‘at:on mr Apni 2015

is
“Particuiars ) « Amount (Rs} |
fnt rest Pﬁcewed on Term Loans™ % - 7,565,000
\ Penai intere:st Received o {:ﬂﬂlayed Repcymet floanst 3,060,600
: Ar‘nua: Fees On Debit Cards § " 1,535,000
. Bank Charges on Current Account™ 2,50,000
Bank Charges forissue of Demahd Drarg‘— 1,560,000
- Loan Processing charges ~~ ' 3,40,000
interest Recaived on Credit-Cards7 ™ 1,20,000
Late Payment Fees on Credit Cards T 40,000
Ré_.!_nt_of SaE’e Depzésit Lockers e 3,60,000
© Commissioh From Governemnt For Collection of Income Tex7] ~ 3,30,000
interest Received from Reserve Bank of IndianJ " “90 000
Charges Received for Conversion of Foreign CurrencyT” 73,000
Amount Received for Sale of Old Furniture tJ'r 30,000
Fees Received for Investment Consuitancy Sevices 80,000
As.per provisio}f; of service tax laws, classify above items as taxable or non taxable and calculate
‘the value of taxable services, assuming that service tax is not included in above amounts
(ignore thereshold exemption and abatement).
OR
[ TURNOVYER
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Part.cuiars

Rent Received :

For Factory Building

For Machinery in Factory
For Residertial House
For Tumitzra in Residentia! House‘ 4 .
For Oped i3t of Land Rented to CerbS B
For Agriculivrzl Plot : i
For Hotel Rooms {Declared Far
For Hoszel For Workmg ngen"

For rentmg premises f far A,-'" '-Mﬁchmes
For Renting Premises & U}’}itf:ci 86?.30{35
For Open Piot of Lanﬁ IFOF: }-’"m%kli@sﬁanﬁw

| Pension Recewe me‘; xm%mggqfe

= g Amoum {Rs.}

1
' 20,000
. ¢ 2,00,000
e S’C‘eduie agoodc 5,20,200
"&b wr Charges f&éi\fed 40,060
: ' 42,000
2, Pu?chasesdgxg!g__ng VAT}
VT e Raw Matenaiséc%*edufé\i\ goods 32,000
C & Raw Mater’ a.s—SI:hedu}é C goods 2,060,000
; Raw Matenais»Schedule E goods 2,80,000
'3 Spares fbr Maezhmer\; Repairs - Schedule E goods 60,000
; force Fu*rmture ‘Schedule E goods ~ 20,000
bf‘ ce Eamputer Schedule E goods . 10,000
@ L3 tharges paid 60,000
osw " fMotor Car purchased form unregistered Dealer -
“.. - Sthedule E goods 2,50,000

.I',i‘BaI_.jmce {Credit) brought forward from iast month in VAT
Credit Receivable Account 3,300

~4, TaxRateor goods listed uncer Schedula A = NIL, Schedule B = 1%.
= '__Schedu!e(l 5%, Schedule E = 12.50%

CR

7TAUBEARADD23014BCFEOBTOC3IDGCEABT
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« 2016 You are reguired to calculate the VAT liabifity for June, 2016--3 _pe# tﬁe promsrons of

V}

B 4 )

Sudhakar & Co., a reselier and Registered desler, provides the roilowmg"qurmatlbﬁ for .H}ﬁ'

Maharashtra Value Added Tax Act, 2002,
Particulars
1. Sales {excluding VAT} 2,
o Schedule A goods

o ScHedute B goods _— 1 25,000 B
» Schedule C goods g g 20{}0@9 2 = i
& Schedule E goods S 4001‘}5{3

\

» Ouiside Maharashira StateWSa\{as ‘,bchedule Fg:ods ."\ l 25 GOC)
2. Sales Returns {exciuding VAT} - : b
¢ Schedule E goods [said fri ﬁovember ZDTSJ_ L. ‘lS",QQ;Q’Z 5
e Schedule E gocds {Duts;_ i aharashua Sta:ﬂ Safes\f - 1&500
and Soid in Januaf\g?\f}i@f"* ) -’.-_?_..,-' e
3. Purchase {exciuding VAT) -~ : o g
® ScheduleAgoodsV &

T D 42,000
" 380,000 .
- 1,00,000

1,600,000

® Schedu‘e Egoadx {( YR 25,000

3. Purc’@:ﬁ pf Motair Car {phssenget- \zehzde and treated as i.ap;ta- assdg)”
; (exc‘rudmg VAT) s Schedyld € goads - F o (L £ 41D ’
% (Credrt‘r brought fofward.frem tast month in VAT

il
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5 ' " QP Cﬁde 06214

4. {a} Druelt Traders commenced their business form 1% June, 2016 from tne oiiqwlng o 8
partiuclars of their purchase and sales transactions, you are requ.red to find.out the date
from which they will be fiable for registration as per the prov]saons of Maharashtra Value
Added Tax Act, 2002 Gwe reasons for your answer,

‘Q., 3

Purchase of goth oy Saies oigooris e
Qut of&??te Within State | Within | wnhm -'.. Wlthm ’
. _ . Sl Ste 1o
Date rzf(ab!e - Taxabie - Tax—Free . Taxahlejg" F‘!‘a:;:_free T
| Rs.. i e g o R‘S” RS LS ; s
1% june 2016 8,000 Y| 20000 | 2,600 20,000
5% June 2016 1,000 30,000 | 4,060 42,00
10% June2016 2,000: : 40,000 | 8,000 25,
15" Juna2016 5,000z -~ 2,500 | 50,000 ‘309'0'__ ‘30,
22" june2016 4009 ;1000 | so, 000 ;.;-‘-"4 000 {745,
4.  {b) Determine the point of taxat:on ig! eac?‘ of tha foi!awmg mdeperdent CaSES w:th 7
reference to the point of taxatwn Ruias 2011 - :
SrNo. |  Date cf ' of !nvm:e ¥ Data & Wi payment
Compietmn of is recewed
Serwce ' o i
1.+ TVs fanuarv 40 | 20kanuary, 20161 - 10February, 2016
2.0 1. 5lanuery2016 3 February, 2016 20 January, 2016
3. Hjanuary, 2096 | SFebruary, 203,6 25 lanuary, 20156
. Slanuary, 2016 | 6February, 2016 4 January, 2016
B Slahuary, 2016 L February, 2016 29 January, 2016

Further in feziowmg two' caseﬁ service tax was chargeaole at the rate of 14% upto 31st

March, 2&15 L!owwewnth effect from Lst Aprr:, 2016, the rate has been increased to

i4. :0% Determine the mrm‘ of Taxation i :n gach of the following independent casas in
‘ acmrda*\ce wzth Paint of Toxatzcr[ Rules, 2011.

TADBOASIDD2304BUFROBTOCIDYCEARF

Sr No. Date of } T Date of Invaice Date on which payment
Completion of | is received
 Sesvice
+ 28 March, 2016 2 April,, 2016 8 Aprit,, 2016
% 3April, 2016 | 31 March, 2016 6 April, 2016
OR
[ TURN OVER




(c) Compute 'Sales Price’ chargeable 1o tax as per the prcws:or;s ofmaha shira _\??e’ﬁ‘ 3
Added Tax Act, 2002. : L

'“‘3

Particulars

Rasic Sale Value {2500 units @ Rs. 400 eachk
Excise Duty @ Rs. 50 per unit
Packing Charges

Transport Charges P
Instailation Charges Seperately cha;g%d
Transit Insurance Seperately cha?ged A
Maharashtra Value Added Ta)a

R

w

Month

April, 2016
May, 2016
June, 2016

You are requested to achqs Mr:Pa r}?«:a5 %n thefc:itowmg qgeétaeas -

AT e

. Whati Is the due daie’ﬁ:r eiec*r@rx € gaymﬁm ct semtetéxw‘&.___‘ -

" ,}'m_}lan numb”e—r us*eﬂ : r*payr_;aent of sef ce.;.ax ?
'gf té‘for "'llmg sérvicetax retiins for the above period.
7 the-service tax setimn ls?ied Eaie by 30 days ?

(a) ExplainWi't‘a-rea; ‘:. [:
Va!uevef\dﬁeﬂ'fax ot (an

5 Eree sammes of: w' pfo uctd#str;bmed by X Ld.

h

e

;e Qf fod w.a

LTst emy §even serv;ces coverec} Lnder exefan services vide notification 252012.

T g

o e [ TURNOVER
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o

{27 Hours) [Total Marks :'75

QP Code : 78104

Note: 1) All questions are compulsory

Qi 4 Attempt any fwo sub-questions from a), b) and £) in MS-EXCEL (2)
(True or False)
a)  PROPER( is used to convert all the Jetters in a word to upper case.
B)  Solver allows you to solve for more than cne variable.
¢y  =FIXED(1234.5671) gives 1,234.5

(B) Agternpt any fwe sub-questigus from d), e) and £ In VISUAL BASIC {2)
(Multiple Choice)
dy  Visual Basic code iswritten in .
A Sub procedures  B)Functions €} Form D) Routines
e}  The standard prefix for a check box button is .
A) cht - B)ept _ C) chu ‘ﬁ?chk
£ is 3 valid ebject name for a text box.
AYTatClass B) SClass €) ot+Class D) @txt
(Cy Atternpt any sfr sub-questions frorm g}, h), 1. }). k), D, m). v), o} in B- (&)

Commerce {True Or False).

g)  E-commerce provides the capability of buying and s=lling of products,

) services and information on the internet.

h)  Web sites that supply differenttypes of online information are content
provider.

iy E-tafler is an online store.

§)  Authentication ensnres that the message was not read by others.

k) Hacking of credit card numbers and passwords is possible in E-commerce.

I}  Transaction broker earns meney in the form of commissipn each time 2
transaction oCCUTS.

m) Thereisno scope for negodations in BZC E-Commerce.

n) DPigital Cash is the electronic paraliel of notes and coins.

o) Paymentis dene only by Smart Card in B-Commerce.

(D) Attempt any fre sub-questions from p), @, £, 5), T W), V), W) (5}
in E-Commerce [Multiple Choice)
p)  EDIstands for :
A) Flectronic data Information B} Elecironic Data Interchange
xC}/EI gctromic data Interface D) Elecironic data Interference
g}  The full form of C2C in E-Commerece is___
AYCowsumer to Cpmmerse B)Cemmerte to Consumss
{)Consumer to Consumer D)Commerte to Commerce

£)  Conversion of coded data Into readable data is called . ,
A)Firewall %}Deﬁypti:}n C)Encryption D)Password

[TURN OVER
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Q3. &)

b)

K

In E-commerce, to authenticate the sender of the message we Use .

. QP Code : 78104

_+&}Digital Signature B)Privacy Protocol

C)Digital Sending D) Digital Protocol

ftis a convention that all sites that yse SSL connection while making a
secure connecticn use ___instead of ETTE. .
A)SMTP BYHTTPS CFTP? DYTCP/IP

The most cornmonly used form of payment In E-Commerce {s .

S

#)Credit Card B)PayPal C)Petro Card  D)Digiizl Card G

i1 online stored value systems, cards thathave embedded chips that store
personal information are called i
A)Debit Cards ~ B)Smart Cards C)CreditCards  Djlaea cards

s part of E-Commercs.

A)B2B B)C2C oB2c  Dyafiottuess
Answer any one sub-guestion from a) and b) in E-Commercs. (8)

Explain any four features of E-Commerce,

Explain B2B and C2C models in E-Cominerce.

Answer any one sub-gquestion from c) and d) in E-Comreerce. {7 -
Discuss the various payiment systems nsed in E-Commmerce. !
Explain the following in E-Lommeree

i)Eneryption 1) Decrypdon iif) Digital Signature

Answer any gpe sub-guestion from a) and b) in MS-EZCEL {8)
Cousider the following worksheet:

L 4] &

"1 |Emp. No. Dept  Salary  Allowance Bonus
3 |s23a Export 25000

Sales 18000

Accounis 23000

HR 35000

Admin 25000

Wfr:ite steps to perform the following:

i) To compute Allowance @ 1% of the Salary for salary up to 325,000
otherwise @2% of the satary in Column D.

if) Te find the Bonus @20% of the Salary for Salary above 30,000
otherwise @14% of the Salary in Coturon E. _

iii) To find the toral benus of all employees whose ealary is below X250 a0 5
in cell EB8. :

Roll Number and marks aré entered in columns A and B as shown inthe
following worksheet. Write Steps to compurte Grade and the Award amount
in Column C and D respectively using HLOOKUP function. Policy table to be
caferred for finding Grade and Award amount is given in the range GL3.

[TURN OVER
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3 QP Code : 78104
?Jg:: ATEEEEr ol ooy e el b |
‘Roll No. Marks Grade Award 76 90
231 87 B A
112 36 } . Awsrd 0 150 500 1000
23¢ 94
123 55
567 77
345 45
€35 83
(B} Answer any oze sub-question from &) and d} in MS-EXCEL {7

c) The followingrahle shows Roll no, Name and marks scored in three
subfects bys studerts in an exan.
e s

RNO NAME ACC  ECO  COMP AVERAGE GRADE
101 PRITANK 55 43 61
103 NIITA 8¢ 65 63
__ApeswsTI 40 50 45
C TdozkmaN | a2 54 639
Wnte steps to

1} Find the Averzge marks in Column F.
2) Assignthe grade in column G using the following policy:

Average Marks Grade
70 and above 0

: 60 1o 69.99 A

! Below 60 B

d) Considerthe feliowm g worksneet

e GBS

Qe Emp. No. Hoursworked Grade  Wages
M0234- 301
hlrs67 4g i
Uslessy 281
“EiilTars 91

BHKIZT 45 e
Write the steps to compute the Wages in column D given that the rate per
hour is T500 400 and ¥200 for Grade I, [f and I workers respectively.

[TURN OVER
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4 QP Code : 78104

Q4. A) Answer any on2 s:‘uh-question from 2) and b) in MS-EXCEL (&
a) The following data is entered in aworksheet regarding sales {in crores of
@_d\uring the years 2005, 2010 and 2015. ‘

T4l HREER £C k5

1 [PRODUCT Mo, _ 2005 2010 2015

111 243 421 34D

222 153 220 136°
333 210 270 195
444 178 215 178

) Find the total sales in each year in the cells B6, C6 and D6.

ii) Create a Column chart for the tatal Sales in 2008, 2010 and 2015,
{if) Create a Pie chart for the sales in 2010,

iv) Create a Line diagram for the sales in 20605 and 2015,

b) The following Excel worksheet contains the sale price per unit, units sold
and sales value of two products in 2 year.
S 5 ’ﬁ: R R WERE :

Price per unit

fedih

P b

vabua

-4
1 {Product
2} 5000 100 50000
3, 3080 150 450000
: 950000

For tas company to breek even, it has o achieve a total sale of 1,00,00,000
a year. Using Solver write the steps to find out the number of units of each of
these two products that showuld be sold in order to meet tae ¢esirad target sale.

(B} Answer any ope sub-guestion from <) and ) in MS-ERCEL {7
<) i in aworksheet:
o ] o
31 1132 PervinKolad 42000 3000
_4_1 1143 Javed Akhtar 205¢0 1550
X ;5_; 1145 Tony D'Senzz 65000 4200
g 1167 Vinod joshl 15600 1800
"_‘-1_‘7' PRIl et S L R ) -
Write stepsto

#)To display only the rows where the salary is more than 30,000.
i) To display cnly the rows where the Contribution isup o 3,000.
ii{yTo display only the rows where the name gontains "I
d) Explainthe following funcdons in EXCEL.
1) DATEQ 2) COUNTAQ 3) SMALL] 4) DAYS3 600
5) CORREL() 6) MONTHO 7IYEAR(Q

[TURN OVER
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5. T8 Answer any ope sub-question from aj and b) in VISUAL BASIC (&)

2}  Write a project in VB to design a suitable form which allows the yssr to
enter the Principal amount and then calculates and displays the Simple
Interest using 8.5% rate of interest for 4 years. (S = P*R*N/100)

b)  Write a project in VB to design a suitable form which allows the user to
enter Basic Salary and calculate and display the HRA as 13% of Basic Salary
for Basic Salary up to T25,000 and 20% of Basic Salary otherwise.

05 (B, Answey any oae sub-guestion from ) and d} in VISUAL BASIC (7)
¢)  Write a project in VB to design a suitable form which allows the user to
enter two numbers and displays the smaller of these two numbers.

d) Write a project in VB ta compute and display the sum of the sertes

3474+ 11415+ - 203
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